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Answer the following questions
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Question I: (1) Choose the correct answer

(1) The domain of the function f(x) = V4 — x? is the interval:

Al (-2,2).
B. [-2,2).
44 (-2.2].
D. [-2,2].
x =1

(2) Evaluate lim——=
¥l er il - |

A. 0
B. 1/4
o B
D. 2

(3) Evaluate him
£=+0 SInx COSX

A, 0
B. |
3 2
D. o0

X +X CosXx

(4) Let f{x)=tan"'(cos(x )}, then the derivative f'(x) of this function is:

i —sin(x )
' teg?
B —sin(x )
' 1+cos’(x)
cos(x)
C. s
T+cos™(x)
D - 1
' 1+cos’(x)
(5) [ x 7% dx =.....
A. P gt

2In 5
B. 7
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U)J-:T dx (2) fﬂlxm dx
(3) J¢ sin*x cosx dx (4) [7 x cosx dx

Y'+4y =0 @i y=asin2x + b cos2x S 13 ()
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(1) lim; (2) limy, (1 + sin3x)3x

. Sin3
(3) limy g ——=

) lim,_o ()
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(1) y +in(x +y) = 5x (2) ¥ = xyetid
3) x=2t+3 , y=t2-1
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?-3x+5
W[ (2) [ sin*x dx
(3) fff‘:,;i dx 4) [cos®xdx
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